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Which of the following is a correct statement?

1) Both the words in a biological name are
printed in bold to indicate their Latin origin

2) Biological names are generally in Greek

3) The first word in a biological name represents
the specific epithet while the second
component denotes the genus

4) The first word biological name denoting the
genus starts with a capital letter but the
specific epithet starts with a small letter

02. Arrange the following different taxa in ascending

03.

04.

05.

sequence according to their rank:-
(A) Poaceae

(B) Polymoniales

(C) Panthera

(D) Monocotyledonae
)C—-A—-B—=D
2)D—-C—->B—A

3)  C>B—-A—->D
4)D—->B—->A->C

Largest unit of classification is:
1) Genus

2) Species

3) Order

4) Kingdom

Two kingdom system of classification was used

for a long time but was found inadequate as:

1) Plants and animals could be classified easily

2) It was easy to understand

3) Both 1 and 2

4) A large number of organisms did not fall either
into plants or animals

Statement-1: The organism responsible for the
production of methane from the dung of
ruminants are Halophiles.

Statement-2: Halophiles are a type of
Archaebacteria which lives in extreme habitats.
1) Both Statements 1 and 2 are correct.

2) Only statement 1 is incorrect.

3) Only statement 2 is incorrect.

4) Both Statements are incorrect.
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Identify A, B, C and D in the table

5 kingdom system
Characters Monera Protista
Cell type A Eukaryotic
Cell wall Non B
cellulosic
Nuclear Absent C
membrane
Body Cellular Cellular
organisation
Mode of D Autotrophic
nutrition and
heterotrophic
1) A-Eukaryotic, B-Absent, C-Absent, D-

Autotrophic

2) A-Prokaryotic, B-Present in All, C-Absent,
D-Autotrophic and heterotrophic

3) A-Prokaryotic, B-Present in some, C-Present,
D-Autotrophic and heterotrophic

4) A-Prokaryotic and Mesokaryotic, B-Present,
C-Absent, D-Heterotrophic

07. Which of the following event does not take place

08.

09.

in protist?

1) Formation of zygote

2) Formation of nuclear membrane
3) Formation of embryo

4) Fusion of gametes

Statement-1: Albugo do not show karyogamy

immediately after plasmogamy.

Statement-1l: Neurospora and Puccinia, show

karyogamy immediately after plasmogamy.

1) Both statement | and statement 11 are correct.

2) Both statement | and statement Il are
incorrect.

3) Statement | is correct and statement Il is
incorrect

4) Statement | is incorrect and statement Il is
correct.

(A) Lichens do not grow in polluted areas.

(B) Viroids have low molecular weight DNA

(C) Virus are inert outside their specific host cell.

(D) Mumps, small pox and influenza disease are
caused by Bacteria.

Which statements are correct?

1) Aand B

2)Aand C

3)A,Band C

4)A, Band D
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Stored food of red algae is similar in structure
to:-

1) Chitin

2) Mannitol

3) Amylopectin and glycogen

4) Glycogen and chitin

of sweet potato, get swollen and store food.

1) Fibrous root

2) Underground stem
3) Tap root
4) Adventitious root

Which one of the following option gives correct
categorisation of flowers according to the
position of gynoecium on the thalamus:-

Hypogynous |Perigynous Epigynous
1)|China rose, Plum, Peach, cucumber
Brinjal Guava
2)|China rose, Plum, Guava, Cucumber
Rose Peach
3)|Mustard, Rose, Cucumber, Ray
Brinjal Plum florets of
sunflower
4)[Mustard, Apple |Rose, Cucumber, Ray
Peach florets of
sunflower

Which is correct floral formula of flower of

Ashwagandha?
N\
1) Br @ gpl_}._‘\;A(_‘»-_‘\)gl.‘l

2) @ (j' K.C.AG,,

3) % gK(s) Cre2+2) A@)+1 G1

4)® § Ka2+2 C4 A2+4 G

1) Root hair - unicellular

2) Stem hair - multicellular

3) Trichomes - cause water loss

4) Guard cells - Regulate opening and closing of
stomata

Which of following option is true for conjuctive

tissue in dicot roots?

1) Parenchymatous and participate in formation
of cork cambium

2) Meristem tissue

3) Part of heart wood

4) Parenchymatous and participate in formation
of vascular cambium
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Which of the following is wrong for dorsiventral

leaf?

1) Spongy tissue is situated towards abaxial
surface

2) Cuticle on upper surface is thick

3) Palisade tissue is situated towards abaxial
surface

4) Present at right angle to stem

Which are found not only in the cytoplasm but
also within the two organelles?

1) Golgi bodies

2) Ribosomes

3) Centriole

4) Mitochondria

Assertion (A): Polar molecule require a carrier
protein of the membrane to facilitate their
transport across the membrane.

Reason (R): Polar molecule can not pass through

the non polar lipid bilayer.

1) Both Assertion & Reason are True & the
Reason is a correct explanation of the
Assertion.

2) Both Assertion & Reason are True but Reason
is not a correct explanation of the Assertion.

3) Assertion is True but the Reason is False.

4) Both Assertion & Reason are False.

Select the incorrect statement regarding S-phase

of interphase:-

1) Occurs between G; and G2

2) DNA replicates in the nucleus

3) Centrioles duplicates in the cytoplasm

4) As DNA is doubled, number of chromosomes
also doubles

Smallest stage of mitosis is __ in which

chromosome number

1) S-phase, remain same

2) Anaphase, becomes double

3) S-phase, becomes double

4) Anaphase, remain same

During light reaction in higher plants, the light
energy is absorbed by the pigment present in __
and funelled into _

1) Antenna, Special chlorophyll b

2) Reaction centre, Chlorophyll ¢

3) Reaction centre, Antenna

4) Antenna, Reaction centre
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Condition helpful in photo respiration are:
1) More oxygen and less carbon dioxide
2) Less oxygen and more carbon dioxide
3) More temperature and less oxygen

4) More humidity and less temperature

Which of the following is the endospermic seed?
1) Bean

2) Gram

3) Pea

4) Castor

Breakdown of A _into_B_iscalled Glycolysis.
1) A - Pyruvic acid, B - Glucose

2) A - Glucose, B - Acetyl Co - A

3) A - Glucose, B - Pyruvic acid

4) A - Glucose, B - Citrate

The exponential growth can be mathematically
expressed as:

D Li=Lo+rt

2) W1 =Wp +e"

3) Wi =W et

4) Ly= Lo—rt

Which of the following auxin is widely used as a
selective weedicide?

1) NAA

2) IBA

3) 2,4-D

4) IAA

Which is not the function of gibberellin?

1) Hasten maturity period of juvenile conifers
2) Stimulate the dormancy in seeds

3) Used in brewing industry

4) Extend market period of fruit

How many of the following are Krebs cycle
compounds?

DHAP, OAA, Malate, PEP, a-Ketoglutarate,
Fructose-1, 6-Bis-P, Succinyl CoA, 3-PGA,
Citrate

1) Two

2) Six

3) Four

4) Five
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Choose the correct match with respect to
secondary metabolites:-
1) Drugs — Carotenoids
2) Alkaloids — Rubber, Gums
3) Toxins — Abrin
4) Terpenoids — Curcumin

Amino acids are organic compounds containing

an/a:-

1) Amino group and an acidic group as
substituents on the same carbon

2) Amino group and an alcoholic group as
substituents on the same carbon

3) Hydroxyl group and a carboxyl group as
substituents on the same carbon

4) Hydroxyl group and a carboxyl group as
substituent on the adjacent carbon

A common characteristic feature of plant sieve
cells and most of mature mammalian RBC is
1) the absence of mitochondria

2) the presence of cell wall

3) the presence of oxyhaemoglobin

4) the absence of nucleus

Aleurone layer in maize seed isrichin
1) carbohydrates

2) proteins

3) lipids

4) All of these

Which of the following plants grow usually in
moist shady habitats such as bark of trees and
deep in the woods?

1) Bryophytes

2) Gymnosperm

3) Brown Algae

4) Red algae

Statement-1: The plant body of Liverwort is
thalloid or leafy.

Statement-1l: Sporophyte of liverwort is less
developed as compared to moss.

1) Statement-I and Il both are correct.

2) Statement-1 and Il both are incorrect.

3) Only Statement-I is correct.

4) Only Statement-11 is correct.
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Which of the following is heterosporous
pteridophytes?

(a) Selaginella

(b) Equisetum

(c) Salvinia

(d) Dryopteris

1) only (a)

2) (a) and (b)

3) (a)and(c)

4) (a)and(d)

Axillary bud of stem develops into thorn in:-
1) Grapes

2) Bougainvillea

3) Pumpkin

4) Opuntia

The three sketches (A, B & C) given below
represents three different types of phyllotaxy.
Select the correct option

3 z.*%‘

(A) (B)
1) A=Opposite, B=Whorled, C= Alternate
2) A=Whorled, B=Opposite, C=Alternate
3) A=Alternate, B=Opposite, C=Whorled
4) A=Alternate, B=Whorled, B=Opposite

Cortex is the region found between:-
1) Endodermis and pith

2) Epidermis and pericycle

3) Endodermis and vascular bundle
4) Pericycle and endodermis

In dicot stem correct sequence of layers from

outside to inner side is:-

1) Epidermis, pericycle, general
endodermis, vascular bundle and pith

2) Epidermis, pericycle, endodermis, general
cortex, vascular bundle and pith

3) Epidermis, general cortex, pericycle,
endodermis, vascular bundle and pith

4) Epidermis, general cortex, endodermis,
pericycle, vascular bundle and pith

cortex,
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eiteumeusioupmled 61 GamL 19GrmerdGuimyerd
QLAGLT. el (BH6T?
(a) GFeaGeteveuT
(b) Fé@eudl Lib
(c) Fmevaieiwim
(d) wemyBuImIGL flerd
1) only (a)
2) (a) and (b)
3) (a)and(c)
4) (a)and(d)

semibseler  Caxmewr QTG (WLH6NTH
© (HeUTEUG):-
1) Sy eng
2) SIS,
3) yaenf
4) guetaguir

#C1p OBTHHSILL(Beien ceim galwniser (A, B
& C) apaim OousiGouml aUMSBWITET  E6n60
DI6NLDEY|HEN6ITED

BaIHOBBHSMD

GBsSeamer.  Fflwmarendd

(A) (B)
1) A = agflemsowieniosy, B = spileneowienioey,
C= wBpilensowtenios]
2) A=applensowenioa|, B=srgfeneoulentoa,
C=orBpilensulienioe]
3) A=oniBpfleneouieniosl,
C=amBnienevowienios
4) A=1omBsleneolIenLoe,
B=aiglflensowienioa]

B=aiglflensowienioa,

B=ampilensowienioa,

Lmenl eTeiTig @gemenL Gl STt ILIBLD LGS
1) ©185585m60 BEID 118

2) uBSBSHTev BEID QLI 6w F a6l

3) ©15HBHT60 LOBEBID ITEYOG60T] HBeNM

4) Quflengsdel BBID DIBHBHTE0

BBISgms Heaiged GlaleflpsgelGH!
® 61 UbSHIAMES DIbHGHeMer Fflwimer euflens:-
1) ussHB8zxHTeL, GUIflenFHH6l, aUIDHBIOTET LimewnT,

DIBHCHT6V, UTEOEH60TT SHBewM LBMID L5
2) umsBsmed, CuflwasHer, DIBHBHTEV,
QULDESBLOTEIT LIM6nfl, 6UT6rOEH6VMT Si3enM LOBMILD
15
3) UBHBHTEL, auHBITET LiBenll, QUflengdde,
DIBHCHTEV, UTEOE60TT SBenm LBEID L5
4) UuB&GHTeD, aUPHBLOTET LBewi, SIBHCHT6V,
OLIfleng & &l6iT, euTerdG eV SMemM® LOBMILD L1g
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Statement-I: The smooth endoplasmic reticulum
is the major site for synthesis of proteins.
Statement-I1: In animal cells lipid-like steroidal
hormones are synthesised in RER.

1) Statement-I and 11 both are correct

2) Statement-I and Il both are incorrect

3) Only Statement-1 is correct

4) Only Statement-II is correct

Match the following:

A) Zygotene |i) Terminalisation of chiasmata

B) Diplotene |ii) Appearance of recombination
nodules

C) Pachytene |iii) Dissolution of synaptonemal
complex

D) Diakinesis |iv) Formation of synaptonemal
complex

1) A-iii, B-iv, C-ii, D-i
2) A-iv, B-iii, C-ii, D-i
3) A-iv, B-iii, C-i, D-ii
4) A-iii, B-iv, C-i, D-ii

who used prism, green alga Cladophora and
aerobic bacteria and plotted the first action
spectrum for photosynthesis?

1) Sachs

2) Priestley

3) Ingenhousz

4) Engelmann

The given diagram represents a chromosome.
Identify the structure A, B & type of

chromosome C:-

A
B

C — Type of chromosome

1) A-Satellite, B-Primary constriction,
C—Acrocentric
2) A-Satellite, B-Secondary constriction,

C—Metacentric

3) A-Satellite, B-Centromere, C—Telocentric

4) A-Satellite, B—Centromere,
C—Submetacentric
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gmpl-1:  GoeTeniowimer  setGLTLINTF  616m60
Lr SmiseMen @ _BLGHHHEG (PSHeTenLD HeNLDTELD.
appl-1l: aflevmig OFevzmefled NG Gumes
eroleymuI(h e GLomeitaei QaFmOamyLILITeDT
GTeRTGLMLI6NTE 6UEm6V 2 _(HeUTHESHH MBS
1) gammi-1 @b 11 e Fflwretene
2) gamu-1 pmid 1 @resiBid HeupTerenel
3) aammi-1 1 GG FHlwiTeg)
4) anmui-11 1o GG FHlwimeig)

LedTeu(meueasTeuBenmLl GILIT(HHS!:

A) FBsmiosst 1) swimerdGor L pieofl
SDIENL_HEV

B) riGenmiesst i) wpICgiobme (ig&Faise e
GoTBBID

C) unéaiees iii) femmingefiosd QTSI
BN HBBSI

D) Lwrenaserdlend |i1V) dermligeiiosd GHT@LiL
9 (HeUT&H&LD

1) A-iii, B-iv, C-ii, D-i
2) A-iv, B-iii, C-ii, D-i
3) A-iv, B-iii, C-i, D-ii
4) A-iii, B-iv, C-i, D-ii

WUl L&, uFemg und Senm@GLrGurgm wBpIb
STBEIGFeUTF  UTdleflumemeul  LWeTLIG S W6
wBBID  efFCFTbmeddTa  (PHeL  GlFUIED
HIBLOTENEVEmUL FHIL L LOL L 6w wim?

1) gndberd

2) LiferoL 68

3) BriG6TIaNB6 61D

4) 6re1B606LO6ST

CarhdHaiLl L auamrULLD e &GITLTGaTeniod
GBlsABaI. &BmGurGsmiier A, B & saumas C
B)60T B L_6WIOLI6DL SI6NL_ULIT6ITLD &T6u0T6)LD: -

A
B

C — Type of chromosome

1) A—Bg1 i9ewevl”, B—pmeitenio gimaamib,
C—9168ymoFen M

2) A—Ga1 19emevl”, B—Byemiimb Menev &i(HeeHID,
C—GwL Lreger M

3) A-Ba1 1gemevl, B—Gigein Gymiiui,
C1eBourGlF i _Ma

4) A—Ba1 gemevr, B—GFesm Gymoui,
C— siamnentOoL LT6\F e M
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Find out the incorrect statement from the

following statements?

1) F1 part of ATP synthase contains site for ATP
synthesis

2) Oxygen acts as the final hydrogen acceptor in
aerobic respiration

3) One molecule of FADH, produces 2 ATP

4) Cytochrome az is the part of complex Il of
ETS

Assertion:- Ethylene is most widely used PGR in

agriculture.

Reason:- The most widely used compound as

source of ethylene is Ethephone.

1) Both Assertion & Reason are True & the
Reason is a correct explanation the
Assertion.

2) Both Assertion & Reason True but Reason is
not a correct explanation of the Assertion.

3) Assertion is True but the Reason is False.

4) Both Assertion & Reason are False.

Chitinisa ___ and it is made up of the unit ___
1) Heteropolymer; N-acetyl muramic acid

2) Homopolymer; N-acetyl glucosamine

3) Heteropolymer; N-acetyl glucosamine

4) Homopolymer; N-acetyl galactosamine

How many statements are incorrect for simple

cuboidal epithelium?

(A) The function is secretion and absorption

(B) It is single layer of cube like cells

(C) Itis commonly present in ducts of glands and
tubular part of nephron.

(D) The nucleus is located at the base.

1)3

2)1

3)2

4) 4

Select the incorrect statement regarding simple

squamous epithelium.

1) It is protective in function.

2) It forms diffusion boundary.

3) Single thin layer of flat cells.

4) Present in wall of Blood vessels and air sac of
lungs.
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LelTeu(BHLD FnBmIBere0 QHhHH HeUBTET FnBenBd

SB60TL_MSlUIeYLD?

1) ATP dea@zmeiesr F1 wugd ATP
OFHTSGHLISHSBTET HoNGHemHd O\FHTewi(HeiTer]

2) gGmis  GangsHHed s  Bmig
maBL TM6T gBLIWTS OFweoLIGSBSI

3) FADH2 @&t o@m cpevdamm 2 ATP s
® (HEUTHGHPHBS

4) ena1_ GLraGymib a3 eraiLigl ETS 8eir flabamevmet
Il &6t ugHwin@Lo
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LWSTLGSSLILGLD el eyT.
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1) saBmI BEID STyeD BB & & sye
FBNl @(H FRWTeT aflenaaLD.

2) BB BB SMyenid SFewiBL &l LeTTed
SMTWILD SnBnIhE Fflwmer alendsld Hle06v.

3) gaBml FNBT6H DLEITED STTENILD HEUBTEIHI.

4) saBl BHID STTENID BTHIBLD SeuBTaTEne.

MBI 616G (H _ BBID @FH 616

DIGVBITED LG

1) Gami 198ymumeliog N-oidflent 60 (pgmis
SHILO6VLD

2) GamrGwruredioy N-gidflent_60
& HBHTFemLD6IT

3) Gamt BLnGyrumediny N-oiflenL_60
& HBHTFemLD6IT

4) BamrGurumedy N-oiflent_60
G605 GL & emLDGHT

ool SFHT augel 6MLN1SHIWLSHBEG 615HHen6s

FBBIBET HEOUBTH 6166 ?

(A) Qgweoun® LI BEBID 2 5lehFHe0 ShELD

(B) @a1 Guraip amssrsIa ebos bHE
OCFe0H6iT

(C) & Ourglauns aylIlseleT GOTUISETEID
OIB.".LyTefl&lr GWTUl LUGSHUNID ©_6iTeN ).

(D) 2La® 219556mHSls0 imobsieiens.

1)3

2)1

3)2

4)4

aefl FLewL ouger 61N850WID  CHTLJument

SHUBTEN BB CHIHOBBEHSMLD.

1) ®gl ungIHIL OFWemenF QFUIBBEI

2) B3I 2a1(B(HEUGD 6T6VMEVEMUI ©_(HUTHEGHH MBS

3) el winer gmems (Fe0H6iT QBT Gloeuedlul
Sb&S.

4) @155 Hrenhiseie Geu] WBBID HlenTuiyeder
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Which is not true about the blood vascular
system of cockroaches?

1) Myogenic heart

2) Colourless plasma

3) 13 - Chambered heart

4) Open type circulation

Which of the statement is wrong about frog?

1) The skin is smooth and slippery due to
presence of mucus

2) The colour of dorsal side of body is pale
yellow and ventral side is olive green

3) The colour dorsal side of body is olive green
and ventral side is pale yellow

4) The most common species of frog in India is
Rana tigrina

Find out correct match:-
1) Cuttle fish - Octopus
2) Devil fish - Sepia

3) Flying fish - Exocoetus
4) Rat fish - Clarias

Match the following genera with their respective
phylum:

(a) Ophiura |(i) Mollusca

(b) Physalia |(ii) Platyhelminthes

(c) Pinctada |(iii) Echinodermata

(d) Planaria |(iv) Coelenterata

1) @-(iv). (0)-(i), (©)-(ii), d-(ii
2) (@)-(iii), (b)-(iv), (¢)-(i), o(ii)
3) ()-(i), (b)-(iii), (c)-(iv), o(ii)
4) (a)-(ii), (b)-(iv), (¢)-(ii), d-()

Match the following:

(A) Locusta (i) Hookworm

(B) Limulus (ii) Blood sucking leech

(C) Hirudinaria |(iii) Gregarious pest

(D) Ancylostoma|(iv) King crab

1) A-iii, B-i, C-ii, D-iv
2) A-iii, B-iv, C-ii, D-i
3) A-ii, B-i, C-ii, D-iv
4) A-iii, B-iv, C-i, D-ii

How many in the given examples of animals are
Coelentrates.

Physalia, Obelia, Plannaria, Pennatula,
Gorgonia, Pleurobrachia, Meandrina and
Nereis

1) Three

2) Four

3) Five

4) Six
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syuunet ysdseler BrHs bren Sienliled 615
gifluisbev?

1) wBwImTegeid BsHuild

2) Bimiomm Lemmerdiom

3) 13 - siemp BFHWid

4) Hpbs euens Giphe

SHAUMET LBMIWI 6Thd FniBHl HeUBTen|?

1) Gameww Hyeudb  @iusred  Gmpmed
W(HSHIUTHOD  UIPSEGSD  SHEIEnLOU|L GDILD
BHSGID

2) 2 Ledail (IpHIGL UbBHHe BBID GCeuery
LDEhF 6T LOBBID eUUIBBILILIGSID SLeVl6 LIFmSF

3) 2 Leder  (pHGLUIUBLD  opedell LFMT
BBwrsab, euulBpIiugsd Oeue ehdFeiT
BT BHSELD

4) ®pFHuwimaied HaID QUITHIITET HaIen6rT BeTd
JT6OTT 6DL I HLEHLD

gflwmen QUIHSHSHSHMSHD HWIL BlWIa|LD: -
1) sewteumu’s 1T - &,HGL TN

2) Guu1 1esr - Q&L uwim

3) UBSEGLD L& - 61HBFTEL L 61D

4) 6169 18651 - &lenlulerd

Leeu(bD  6UENBHMET DIbhSHhHDH OHTSHIIULIL 60T
QUIT(HEHGLD:

(a) @Uiluygm (1) GuomevervsT

(b) ewugmedwim [(ii) Nenmi 19 QamevL 651610

(c) WesrssLmim [(ii) e1dbaBGemm@LyGLoL LT

(d) WenGevrfluur | (iv) FevasngGri L

1) @)-(iv), (0)-(i), (©)-(ii), d-(ii
2) (@)-iii), (b)-(iv), (¢)-(i), d(ii)
3) (a)-(i), (b)-(i), (c)-(iv), d(ii)
4) (@)-iii), (b)-(iv), (¢)-(ii), d-()

LevT6u(hHeUeasTeUBenBLI GILIT(HSHSI:

(A) GeurseroLm (i) Gamadiyap

(B) edpsverd (ii) Brss> 2 Miehsid
S L

(C) el Georflum (i) gnig eumpID L&

(D) o1e5160sBsomerd@Lmom | (iV) gregm mewi(h

1) A-iii, B-i, C-ii, D-iv
2) A-iii, B-iv, C-ii, D-i
3) A-ii, B-i, C-ii, D-iv
4) A-iii, B-iv, C-i, D-ii

alevmiGHenen OBTHSBUILLL 2 HTJenimisbeled
TSHHmer Feve Gyl (habe.

emugmelw, @Liledw, enmGerflwim, GLieTemT(Hevr,
&s1I@smeiwT, LienrCrmilgrdawm, et iflerT
wBsIb Cpiflerd

1) Three

2) Four

3) Five

4) Six
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Assertion: The frog excretes urea and thus is a

ureotelic animal.

Reason: The vascular system of frog is well-

developed closed type.

1) Both Assertion & Reason are True & the
Reason is a correct explanation of the
Assertion.

2) Both Assertion & Reason are True but Reason
is not a correct explanation of the Assertion.

3) Assertion is True but the Reason is False.

4) Both Assertion & Reason are False.

Assertion: In Amphibians incomplete double

circulation present.

Reason: In Amphibians oxygenated and

deoxygenated blood get mixed up in the single

ventricle which pumps out mixed blood.

1) Both Assertion & Reason are True & the
Reason is a correct explanation of the
Assertion.

2) Both Assertion & Reason are True but Reason
is not a correct explanation of the Assertion.

3) Assertion is True but the Reason is False.

4) Both Assertion & Reason are False.

In which of the following circulation heart
pumps mixed blood:
1) Single circulation
2) Incomplete double circulation
3) Complete double circulation
4) Both 1 and 2

The hormone that stimulates heart beat is
1) Insulin

2) Adreanaline

3) Glucagon

4) Gastrin

Identify the correct sequence of events in a

cardiac cycle:-

1) Joint diastole — Atrial systole — Ventricular
systole

2) Joint diastole — Atrial diastole — Ventricular
systole

3) Ventricular systole — Atrial systole — Joint
diastole

4) Atrial systole — Joint diastole — Ventricular
systole

Enzyme
H* + HCO; —— H2CO3
(A) Given reaction takes place in WBC.
(B) Enzyme is carbonic anhydrase. Find correct
answer
1) Alis incorrect
2) B is correct
3) Both A & B correct
4)Both1 &2
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3) GaBEl FNSHTET SLEIT6O BITGWID HEUBTEISEI.
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3) FnBml FASHTET SLETTEO HTTERID HEUBTEIH.
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H* + HCO; —— H2CO3
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1) A soupreng

2) B sflwneng
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Statement A: Thoracic volume increases in

dorso-ventral axis during inspiration.

Statement B: By contraction of EICM, ribs and

sternum shifts upwards and outwards.

1) Both A and B statements are wrong.

2) Both A and B statements are correct, but B is
not the correct explanation of A.

3) Both A and B statements are correct, and B is
correct explanation of A.

4) Statement A is correct but statement B is
wrong.

CO2 which is
respiration:

1) Harmful

2) Useful

3) Air

4) Liquid

, is released during the

(A) Chronic disorder

(B) Alveolar walls are damaged

(C) Decreased respiratory surface

(D) Cigarette smoking is major cause

These statements are related to which respiratory
disorder?

1) COPD

2) Asthma

3) Emphysema

4) Occupational respiratory disorder

Osmolarity of interstitial fluid in cortex is:
1) 1200 m osm L

2) 900 m osm L

3) 600 m osm L

4) 300 mosm L

The structure which encloses glomerulus is:-
1) Henle’s loop

2) PCT

3) DCT

4) Bowman’s capsule

Medulla of kidney consists of:
1) Cortex, Pyramid & calyx
2) Pyramid, Calyx & Pelvis
3) Hilus, Pelvis & Pyramid

4) Calyx, Cortex & Hilus
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OBHTLTLEDL Wieneu?

1) COPD

2) SLEerOGIDT

3) erbLiefiom

4) QamPled FIHS Geutgd Gamenmyl

SMIOLSHerdle0 o oo BewL S5
SLer0GLOTEOTIL 19
1) 1200 m osm L
2) 900 m osm L
3) 600 m osm L
4) 300 m osm L

Blyeudbdlest

@GBENTLD(HEVEMETL 2 _GIT6NTL S HIENIDLIL]:-
1) GamsaiBeoullen cuenera

2) PCT

3) DCT

4) Queriomeilest &lewTamTLD

FBpIsHHen  GLBeLeOT  LisTalheuaTelBaBa
OsmemiBHeiTengl:
1) sryOL e, Lyl & Gsederd
2) oL, Cseddben & GLisvailerd
3) mameverd, Quevalerd & Lyl
4) Bm60dber0, BTG Serd & mameuerd
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Which part of brain control urge for eating
drinking?

1) Thalamus

2) Hypothalamus

3) Medulla

4) Cerebellum

Read the following sentenses and give the
answer

(A) Short fibres which branch repeatedly and
project out of cell body called dendrites.

(B) Neural system provides an organised
network of point to point connections for a
quick co-ordinations.

(C) The dendrites transmit nerve impulses away
from the cell body to a synapse.

(D) Unmyelinated nerve fibres are not enclosed
by a schwan cell in PNS.

1) A and C are correct where B and D are

incorrect

2) B and C are correct where A and D are
incorrect

3) A and B are correct where C and D are
incorrect

4) B and D are correct where A and C are
incorrect

Hormones are _ chemical which actas

messengers and are produced in _____ amounts.

1) Non-nutrient, intercellular, trace
2) Nutrient, intercellular, trace
3) Nutrient, intercellular, large
4) Non-nutrient, intercellular, large

Exophthalmic goiter is characterized by of
the thyroid gland protrusion of eye balls,
increased BMR & weight .

1) Enlargement, loss

2) Loss, enlargement

3) Enlargement, Gain

4) Loss, loss

Fill in the blanks from the options given below:-
__A___hormone interact with membrane bound
receptor and produces _ B

1) A-FSH, B-Primary messenger

2) A-Insulin, B-Primary messenger

3) A-Testosterone, B-Secondary messenger

4) A-LH, B-Secondary messenger
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cpemend SLBLILITL QST 6MhHL LGd FmilliHge0
LBBID  GuSHe0  CUTEB  BlBDeBMENTS
ST BHBHI?

1) sevmiperd

2) »amGLITH60TLOED

3) Gin(BeveuT

4) Hmicpener

LeSeU(HD  eUTSHES WIMISEMENL Lglev

QFTELEIMIH GTT

(A) Gged o Le9edmbhs ewIBD  ewIBLD
SHemenddl  GeuafGupid GuIHW  BenLpH6iT
OLevT_emJ(Hb6iT eTeatlILIBLD.

(B) mymwed oemworiny @ Leeluledmbal
LBOEBTH LeTerl alenyeumet e(HmhidenerlienL
QUIPEIS B BS-

(C) QL& myBH6T HIIDL HTERIBHOHMET GF6D
2L e0ledlmha! 2l FHHIIIBE
SIGDILIL| & 6T 60T.

(D) wweler 2 _eMBUITEd  @OUILLTE  [HILDL
BanpseT PNS 860 2 6Tl a136uTest G1F6060M60
L LILL 6l606m6v.

1) A wpmib C & B woppib D seum

2) A wpmitb D seuml B wommib C i)

3) C wmmib D seum A @b B g1l

4) A wpmib C seuml B wompib D &)

LI SH3

amryGureiset _ Geug) QUMHLS6NMTEGLD, Dieney
__ @rglelisents GgweoLBaleameT MBI
SI6ENT6Y&H6IM60 2 BLSH S CFuiwliLBGaeiment.
1) 2am’ L& 551 SieLTSH,
56056 S emL GuIulTenT, G emnpeuTent
2) o611’ | 5531, QF60®EMhSHB enL GuiwiTe,
&M BEUTET
3) 2ol L FF 551, 0Fe0dEHSH L GuiTer, OIFs
4) panl’ |_&F FHSI IS,
CFeLBEHBBenL CuiwiTe, 918 &

a&Geromligmeollld sTuil L] engymui®h syriufer
___ a6 ubgiseriiel HibHHe, iPaflshs BMR
& etemL o FwIauBBTe auenSLILGSHSLILIGH DS
1) Qu(m&sID, BIpUIL|

2) ®1oriy, GLHEHID

3) QUIHBBID, SLSTUID

4) @iy, @iy

&@1p CaTBHBLILIL (HeiTemeneldemedl(hhal
OeumBmiLmisenen BIFliLeyb:-
A ommfGomeT  Feleysenmmed  @GLOUILIL L

Emﬁr@mml_‘ﬂw_m O&TLIY O®mendpg LoBmID
_ B o pusd QFuidng.
1) A-FSH, B-upsetenio grgileiy
2) A-8aigielest, B-(pseiientn simgieul
3) A-GILendBLmerdigBymest, B-@yewiLmbmlenev
S Slel]
4) A-LH, B--gyewiLmbfleneo sirgialy
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Which one is not correctly matched:-
1) ANF = | Blood pressure

2) Progesterone = Alveoli formation in
mammary gland
3) Aldosterone=Na* excretion and K"

reabsorption
4) Glucocorticoids - suppress immune reactions

A sarcomere consists of:

1) One A-band and one I-band

2) Half A-band and two half 1-band
3) Half A-band and one I-band

4) One A-band and two half I-band

The H-zone in the skeletal muscle fibre is due to:

1) Extension of myosin filaments in the central
portion of the A-band

2) The absence of myofibrils in the central
portion of A-band

3) The central gap between myosin filaments in
the A-band

4) The central gap between actin filaments
extending through myosin filaments in the A-
band

During shortening of muscle:

(a) 1-bands get reduced

(b) A-bands retains its length

(c) Sarcomere shortens

In the given correct statements are:-
1)Onlya&c

2)Onlyb &c

3)Onlya&b

4)Alla,b&c

An example of saddle joint is:-

1) Between carpal and meta carpal of thumb
2) Between atlas and axis

3) Between carpals

4) Between humerus and ulna

If bone marrow is removed from an animal body
which of the following process will be affected?
1) Ability to maintain balance

2) Ability to synthesise blood

3) Ability to excrete

4) Functioning of liver
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o1 FRlwITs QUT(HHHaT60m6V: -

1) ANF = | 8763 11pd1b

2) UGrmlelggerdL gymes =
960aIGWITEM6D ©_(THAUTSHHLD

3) oueGLmervgBrmesi=Na* GeuefGuiBBLD WHBHID
K" 18ew1B1b 2_flehaigHe0

4)  &EpHCHTHTTIQHTUIHEH6T -
TH TN MEIHEN6N DL (G, ATB6aT

umed  &JUILIUTeD

Grmowgliyiy

Qb Fmiy@asmolwy
OsmemiHeiTengl:
1) @ A-ul L BEIb @k 1-ur enL
2) und A-u enL @b Byewi® urd) 1-ulent
3) urg) A-ul enL BBID @ |-u L
4) @ A-ul el BBId resi® urd 1-ul e

LT &ST6u(hHeuaTeUBeNMBS

GTUIDL] HewF [BTJHere0 2 6item  H-106wTL 601D

BFHB&HE BITJeuILD:

1) A-ulenLuier edowill UGHuled wBWITH e

Benipseiet ailifleumdald

A-ulewLuller  emLowIL

BlewTenllenD E60EVTHH

3) A-uleni_uflesr o eiterm wBWTH 6T BMIDBEHHE,
BenL_Buw 2_aiTer eniol HenL_Geier

4) A-ulenLulest o eiterr  WOWITHGT  BeMIDBH6IT
UPWTe BLRSHGD DY DB EDHDHE)
BenL_ulevmen eniowl enL_Glaueri

2) UGHUld  HmF

HMF S(HdbDHHlenn CUTgI:

(@) 1-uL_emL_ufles [Bend & emBe L ILIGS T36T

(b) A-ulenL SIBeET BaTHmd HHHMaISHHIS
CEmeTaBGI

(c) myCasmiwiy H(Heb&GHBaS

CaTHSHSULL L FFWTET SnBmIHere0:-

1)Onlya&c

2)Onlyb &c

3)Onlya&b

4)Alla,b&c

Gaemrt cLpL (BB TET 2 SHTJ6EwILD:-

1) wenlésl B 6le0bl LBHBID 2 6T6eNbiend
TIDLIBEGHLD 6wl ulev

2) oo BWHB (PeTGLMIDY WBDID DiFS
aTauIbLIB@ BemLuiled

3) wenldbal B EhaHE DenL uled

4) GuBend 6TeVIDL] BEBID (LIOBINS 6TeVIDLNB3E
BenL_ufev

PG alevkig 2 L 6dd Qb CIIDL] LDZRME
SIBBBLILILLT60, LleTeupld  6lhdH OClFUIeOLPeND
LTS BBLILIBLD?

1) siBlenevenut LUFTORSEGLD FHmest
2) QIH3HDS RHRBMMBESLD HBeir
3) GeuefBGuBm®ID Hmest
4) ®606876065T GFuwieOLIT(H
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Assertion: Adipose tissue is the type of loose
connective tissue located mainly beneath the
skin.

Reason: The excess of nutrients which are not

used immediately are converted into fats and are

stored in this tissue.

1) Both Assertion & Reason are True & the
Reason is a correct explanation of the
Assertion.

2) Both Assertion & Reason are True but Reason
is not a correct explanation of the Assertion.

3) Assertion is True but the Reason is False.

4) Both Assertion & Reason are False.

How many ovarioles are found in each ovary of
cockroach?

1)3

2)6

3)8

4) 16

Which of the following found in frog:-
1) Five fingers and four toes
2) Four fingers and five toes
3) Five fingers and five toes
4) Four fingers and four toes

Members of phylum arthropoda lack one of the
following feature

1) External skeleton made of chitin

2) Compound eyes

3) Excretion by malphigian tubules

4) Usually a close type of blood vascular system

Identify the correct match from column I, 1l and
118

A) Taenia|p) )

solium Asymmetrical | Metagenesis

B) Sponge q) Bilateral |ii)
Exclusively
marine
habitat

C) Obelia r) Radial iii)
Alimentary
canal absent

D) s) radial iv) Canal

Pleurobrachia system

1) A-g-iv, B-p-iii, C-s-i, D-r-ii
2) A-g-i, B-p-iv, C-r-iii, D-s-ii
3) A-g-iii, B-p-iv, C-r-i, D-s-ii
4) A-g-iii, B-p-iv, C-s-ii, D-r-i

Which vein carry oxygeneted blood?
1) Pulmonary vein

2) Systemic vein

3) Both 1 and 2

4) Pulmonary artery
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MBIl QBT & LGl (PHBuIoTs CaHmed e

Slguiled  DIDLOHBHICTONT  HoMJeuTer  EeN6TLIL

&HFib 616l UND.

ST GUuTLD: 9 | eIQuiTsLl LWISTUGSSLILL TS

SIFHBLLQWITET 261’ | FFHHISHDHET QBTUQLILITS

LormprIuLC (6 BbhsH FHadaerleL

GO asL1LI[H S evT360T.

1) a@ml wBEID STyed BFesihd &M & SMyewid
FBUIH BT FiflTenT ail6NMeaLOMELD.

2) Bl BEBID STt BJeT(BLD FlHTesr SLeTe0
ST FnBmIS@ Ffluimer allenshold HI606V.

3) GaBEl FNSHTET SLEIT6O BITGWID HEUBTEISEI.

4) snBEl DBBID STTEID BJeRIBLD SHEIBTETEn6.

sriuTer YFFuler eelbleumh SmlenLuievid
STHHME BH(TH(LPL_ 6L H6IT HTeWTLILI[BH ) 65136017
1)3 2)6
3)8 4) 16

LTedreu(meueasteuBmled Heuemenuiled smewiiiLiBeugi:-
1) sgibgl aJe0SH6T OBBID BT STV TE0HET
2) BIaSIE alFe0H6lT OBBID Wb HTeVATT60SH6I
3) mbag! aNJe0H6T OBEBID b HTeVNTOH6IT
4) Bresi@ alJe0E6IT BBID BTG BTeVNT6OH6I

0188 wJsHCITCUTLTale o mIlilasendE

LevT6u(hHLD LIGWTLISH61T60 6T E606m60

1) eslgemed  Gauiwiul L
616VILDL | Tn (b

2) ol (B H6uIH6I

3)  wrefgwiet  GOTUIB6T  eLPeVLD
GleueMGuBMBLD

4) QUITHIITS LIl CUMSD BT HS HIT6T DIHLDLIL|

Geuerilliyms

16|

CrGauflenguledmba  Fflwmer  CUTHHHHMSB
SIGNL_WITGIILD SHTEIT6YLD.

A) eeaflwr 0)] i)
Gamedluid F&FSFIBB |Gl L TOxgefdlerd
B) sLpund) q) &muss |ii)
Ly SaCuwisLonas
HL_6D eUTIDAIL_LD
C) @uledwir N oy iii) o_ewreys
SITeLGUTUI
B60emev
D) S) &y IV) smeveumu
LieerpGymiilymabasluim SleNLDLIL|

1) A-g-iv, B-p-iii, C-s-i, D-r-ii
2) A-g-i, B-p-iv, C-r-iii, D-s-ii
3) A-g-iii, B-p-iv, C-r-i, D-s-ii
4) A-g-iii, B-p-iv, C-s-ii, D-r-i

apHeIgGaBolLL L QISHSHMS 6bG BILOL
Cameni(h CFeodma?
1) Bienyuiyed HLby
2) FlerdL 10 [BiFLDL
3) 1 wBmib 2 ByewiBLd
4) miewguiyed Hioe
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Which of the following substances are
reabsorbed actively in nephron?
1) Glucose, Water
2) Glucose, Na*
3) Amino acid, Urea
4) Na*, Water

Which of the following ion is neccessory for
conduction of nerve impulse:-

1) Ca*™*

2) Mg++

3)CI”

4) Na*

Match the followin

A) Multipolar 1) Retina of eye

B) Bipolar ii) Cerebral cortex
C) Unipolar iii) Cell body

D) Nissl’s granules|iv) Embryonic stage

1) A-ii, B-iii, C-i, D-iv
2) A-ii, B-i, C-iii, D-iv
3) A-ii, B-iv, C-i, D-iii
4) A-ii, B-i, C-iv, D-iii

Choose the correct option for pair of hormone
which dosen’t have antagonist function.

1) Insulin-Glucagon

2) Paratharmon-Calcitonin

3) Melatonin-MSH

4) Thyroxin-Thymosin

Match the following

(A) CCK](I) Kidney

(B) GIP |(1l) Heart

(C) ANF |(111) Gastric gland

(D) ADH|(IV) Pancreas

1) A-111, B-II, C-1V, D-1
2) A-ll, B-1V, C-I, D-11I
3) A-1V, B-II, C-lII, D-I
4) A-1V, B-1lI, C-11, D-I

How many of given hormones are secreted from
adenohypophysis?

GnRH, TSH, FSH, Oxytocin, Prolactin, LH.
14

2)6

3)5

4)3

During stimulation of skeletal muscle calcium is
immediately made available for binding to
troponin from:-

1) Blood

2) Sarcoplasmic reticulum

3) Lymph

4) Bone
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obSL] QUL eI

Orp.".Ligmefled o _ulitiyeiien  (wewmuled LewrBLD

©  nlehaLILI(HE eTment?

1) & ensGstern, 15y
2) &endBasmerd, Na*

3) oGerm oyuflevLd, upfluim

4) Na*, B

LeiTau(hld  S|uielBHerie0
&L HSHVHEG SleudLILoTe
1) Ca™
3) CI”

61%! [BILDL]  SHITCHIL 60601
al-

2) Mg++

4) Na*

LTledT6(mHeuesTauBenmLl GLIT(HHHALD

A) LisO(Lpen et 1) sewienien ol eny
B) &wmpenent i) Qu(melpamerLl Limeuf]
C) @m(Lpenet iii) QF60 2 1 6uID
D) Blerberoelest icbeitaseit |i1V) & 15enev
1) A-ii, B-iii, C-i, D-iv
2) A-ii, B-i, C-iii, D-iv
3) A-ii, B-iv, C-i, D-iii
4) A-ii, B-i, C-iv, D-iii
61857 6001) G&weoum® &6060TS Begmig

ammIGLoTesEndh@ FFlwnarmss CoHyea| OFuis.

1) B&15:60631-G)61h B BT 68

2) uprsmyGLoTesT-srevdll” GL mefler

3) GG mefler-MSH
4) e»gyraen)er-engGLomd]

2]

LTled16v(mHeuesTeuBenmLl GILIT(H&HHALD

(A) CCK () fmibyesid

(B) GIP |(1]) ®suub

(C) ANF [(111) &ewgtienL

NN

(D) ADH|(1V) ssevewtwiib

1) A-111, B-II, C-1V, D-1
2) A-ll, B-1V, C-I, D-1lI
3) A-1V, B-II, C-lII, D-I
4) A-1V, B-lll, C-11, D-I

CarGaasluLBeTenaupnBled  DigGamenamGuim

emLIerdlenSledl(hb &I
ST BLILIB S 65T3601 7

615 &H 6N 60T

amiGLomerasei

GnRH, TSH, FSH, Oxytocin, Prolactin, LH.

1) 4
3)5

2) 6
4)3

oTeIlDL| HewFulent HmemiBHedent CuTg Smevdluid

® | algUITd
STRIF (HhSHI BHlewL_HHMGH! -
1) grgsb

L Gym@Limevf gmiL_eoT

Lenewnrs s

2) F78smienmeroifld euemevLNeiTened

3) ey
4) e16IIDL]
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